[ X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKXXXXKXXKXXXX KX KXKXX XX KXXKXKXXXXXXX KX KXKXXKXKXKXXXKXKXKXKXMS /1-6400308-00001XX
TrigonometryExercise8 Answers for No.9124

1= (7843 = 135.100) M

Ansl =[1384/3 — 138 =101.023], , Ans2=[+/89—40+/2 =5.695], , Ans3~= 134/3 R
.2 =| arctan =44.392 {

h

@
.1:161} M
2=927 U

Ans4=171.909, , Ans5=70.610, , Ans6=294, Ans7:[

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX XX KXKXX XX XXKXX XX KXXKXXKKXKXXKXXKXKXKXKXXME /1-6400308-00002XX
TrigonometryExercise8 Answers for No.9197

1= (2443 =41.569) M

Ansl =[78 = 264/3 =32.967], , Ans2=[/89—404/3 =4.440], , Ans3 = 443 e
.2 =| arctan ; =22.173 !

h

=144 M
Ans4=181.600, , Ans5=68.058, , Ans6=174, ,Ans7—[‘2:92}’ U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKX XXX XXX KKK LXK KX KKXKX LKL LKL KKK LXK LXK KKK KKK KKK KKKKKKMS /1-6400308-00003XX
TrigonometryExercise8 Answers for No.9252

1=(904/3 = 155.885) M

Ansl =[144—484/3 =60.862], , Ans2=[34/5-24/2 =4421], , Ans3 = 154/3 RN
.2 =| arctan =49.743 t
h

Ans4=171.859, , Ans5=107.135, , Ans6=155, »A”S7:Bi§(1)}’ ’

NS RE
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXXXKXX KX KXXX KX KXKXKXX XX KXXKXXKKXKXXKXXKXXKXKXXME /1-6400308-00004XX
TrigonometryExercise8 Answers for No.9312

1=(664/3 = 114315) M

Ansl =[1504/3 = 150 = 109.808], , Ans2=[+/73 —24+/2 =6.250], , Ans3~= 114/3 RN
.2 =| arctan =46.627 {

h

@
.1:165} M
2=827 'l U

Ans4=151.750, , Ans5=107.055, , Ans6=278, , Ans7:[

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXKXXKXXKXXKX KX KKXXX KX KKK XXX XXXXKXKXXXKXKXKXKXKXXME/1-6400308-00005XX
TrigonometryExercise8 Answers for No.9397

1=(78+/3 = 135.100) M

Ansl =[604/3 =103.923], , Ans2=[+/61-3043 =3.006], , Ans3= 134/3 RN
.2 =| arctan =51.361 t
h

@
.1:260} M
2=149 | U

Ans4=161.750, , Ans5=101.525, , Ans6 =286, , Ans7=[

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKX XXX XXX KKK LXK KX KKXLX LKL LKL LXK LXK LXK KKK KKK KX KKKKKKKKKMS /1-6400308-00006XX
TrigonometryExercise8 Answers for No.9449

=78 M
Ansl =[844/3 —84=61.492], , Ans2=[2+/25—124/2 =5.667], , Ans3 ‘ZZ(arctan _j:35'8380), |
18
h
@
=166 M
Ans4=192.023, , Ans5=81.184, , Ans6=148, , AnS7_|:.2:117}’ U

T
X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXKKKXKX KX KKK KKK KKKK KX KKKX KKK KKK KK KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXXXKXXKXXKXXKXXKXXKXKXX XX XXKXX XX KXXKXXKXKXXXKXKXKXKXXME /1-6400308-00007XX
TrigonometryExercise8 Answers for No.9562

=178 M
AnsI=[604/3 =103.9231, , Ans2=[4/74-354/3 =3.6581, , Ans3= 2—(arctan(£)—28443oj’ |
h

=272 M

Ans4=182.448, , Ans5=93.187, , Ans6=270, ’A”S7‘[2:192}’ U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXKXXKXXKXXKXX KX KKXKXX XX XXXX XX XXX XKXKXXXXKXXKKXXME /1-6400308-00008XX
TrigonometryExercise8 Answers for No.9721

1= (2843 =48.497)

M
Ansl =[114-38+/3 =48.182], , Ans2=[34/5-24/3 =3.718], , Ans3= , ( t (7
£ = | arctan
3

e RN
—18.613 t
6 h

.1:121}
2=69 ] °

Ans4 =152.299, , Ans5=93.450, , Ans6=219, , Ans7 =[

NS XE

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXXXX XXX XXX KKK LXK KX KKXKX LKL KKK LKL LXK LXK KKK KKK X KXKKKKKKKKMS /1-6400308-00009XX
TrigonometryExercise8 Answers for No.9789

1=60 M
Ansl = [844[3 = 1454921, , Ans2=[4/31 =5.568], , Ans3 .2:(arctan(—j:26.565° |
2
h
1=334 M
Ans4 =132.207, , Ans5=112.928, , Ans6 =158, , Ans7—[2=236}, U
T ]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXXXKXX KX KKXKXX KX XXKXX XX KXXXXKKXKXXXXKXKXKXKXXME /1-6400308-00010XX
TrigonometryExercise8 Answers for No.9795

1=T72 M
Ansl =[156 —524/3 =65.933], , Ans2=[24]7 =5292], , Ans3 '2:(arctan(_):30'964()}, |
h

I=171 M

Ans4=131.681, , Ans5=75927, , Ans6=169, Ans7—[2:110}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXKXXXKXXKXXKXXKX KX KKXXX KX XKXKXX XX KXXKXXKXKXXKXXKXXKKXXME/1-6400308-00011XX
TrigonometryExercise8 Answers for No.9839

=284 M

Ansl =[924]3 = 159349, , Ans2=[+/85-424/3 =3.501], , Ans3= 2—(arctan(lj—30256°j’ |
. - 2 - .

h
Ans4=161.537, , Ans5=112.452, , Ans6 =221, , Ans7=[']2:_18612}, , ]\5
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKX XXX XXX KKK LXK KX XKXLX LKL LKL KKK LXK LXK KKK KKK X KXKKKKKKKKMS /1-6400308-00012XX
TrigonometryExercise8 Answers for No.9843

1=78 "
o ) _ _ _ 13 .
Ans =[156-52+/3 =65933], , Ans2=[4/67 =8.185], , Ans3 'ZZ(arCtan(_j:B'mO), ¥
20
h
Ans4=162.190, , Ans5=153.887, , Ans6=128, ’A”S7:['1289}’ |
2=51 U
T

X [Page = 0004] XXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKXXKKKKX XX KKK KKK KKK KKK KKKK XX KKKX KKK KKK X KKKKKXKKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXKXXKXXKXXKX KX KKXKX XX KXKXKXX XX KXXKXXKXKXXKXXKXXKXKXXME /1-6400308-00013XX
TrigonometryExercise8 Answers for No.9854

=60 M

Ansl =[404/3 =69.282], , Ans2=[24/13 =642 =4250], , Ans3 2:(arctan(§):33.6900), |
h

1=85 M
Ans4 =141.857, , Ans5=126.075, , Ans6=292, Ans7—[2 _ 48}’ U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKXX KX KKXKXX KX KXXKXX XX KXXXXKXKXXKXXKXXKXKXXME/1-6400308-00014XX
TrigonometryExercise8 Answers for No.9862

1=(78+3 = 135.100) M
a
Ansl =[126 —424/3 =53254], , Ans2=[/31 =5.568], , Ans3 = 134/3 b
.2 =| arctan =49.842 !
h

.1 =366 M
Ans4 =181.780, , Ans5=101.662, , Ans6 =219, , Ans7—[2:183}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKX XXX XXX KKK LXK KX XKXLX LKL LKL KKK LXK LXK KKK KKK X KKKKKKKKKMS /1-6400308-00015XX
TrigonometryExercise8 Answers for No.10278

1= (8443 = 145.492) M

Ansl =[664/3 —66=48315], , Ans2=[/97—364/3 =5.886], , Ans3— 144/3 b
.2 =| arctan =46.514 !

h

.1:327}
2=250]

Ans4 =192.173, , Ans5=151.644, , Ans6=129, , Ans7:[

NS RE

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXXKKKX KKK KKK KKK KKKKX XX KKKX KKK KKK KX KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXKXXKXXKXXKXX KX KKXKXX KX KXXKXX KX KXXKXXKKXKXXXXKXKXKXKXXME/1-6400308-00016XX
TrigonometryExercise8 Answers for No.10361

1=96 M
o i _ - _ _ 16 ;
AnsI=[78 2643 =32.967], ., Ans2=[/89 ~ 4043 =4.440], , Ans3 .2=(arctan(_j:30'6510j’ !
h

1=270 M

Ans4=191.484, , Ans5=72.439, , Ans6=175, aA”S7—[2:207}’ U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXKXXKXXKXXKXX KX KXKXXX KX XXKXX XX KXXKXXKXKXXXKXXKXKXXME /1-6400308-00017XX
TrigonometryExercise8 Answers for No.10532

1=(78+/3 = 135.100) M

Ansl = [484/3 =83.138], , Ans2=[4/85-42+/2 =5.060], , Ans3= 134/3 R
.2 =| arctan =43.174 {

h

@
.1=270} M
2=135 ’| U

Ans4=151.750, , Ans5=57.010, , Ans6=294, Ans7=[

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKX XXX XXX KKK LXK KX KKXLX LKL LKL LXK LXK LXK LXK KKK X KKKKKKKKKMS /1-6400308-00018XX
TrigonometryExercise8 Answers for No.10688

1=96 M
AnsI =[12643 —126=92.238), , Ans2=[+/89—40+/2 =5.6951, , Ans3 = 2_(arctani —360270)9 |
T 1) =
h
@
.1 =343 M
Ans4 =131.754, , Ans5="78.269, , Ans6=228, |, AnS7_|:.2:263}’ U
T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXKXXKXXKXXKXX KX KXKXX KX KXXKXX XX KXXKXXKKXKXKXXKXKXKXKXXME /1-6400308-00019XX
TrigonometryExercise8 Answers for No.10868

1=(204/3 =34.641) M
Ansl =[564/3 =96.995], , Ans2=[/73 =8.544], , Ans3 = 543 RIS
.2 =| arctan =19.842 t
h
. @
1=468] | M
Ans4=151.783, , Ans5=99.615, , Ans6=239, Ans7—[2:301_, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX KX KKXKXX KX XXKXX XX KXXXXKKXKXXKXXKXKXKXKXXME /1-6400308-00020XX
TrigonometryExercise8 Answers for No.10900

Ansl =[564/3 =96.995], , Ans2=[+/ 1306343 =4.570], , Ans3 .2=(arctan(§j=3z.oos°]’ |
h

.1 =343 M
Ans4=191.923, , Ans5=93.362, , Ans6=236, , Ans7 = [2 _ 197}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXKX XXX XXX KKK LXK KX XKXLX XKL LKL LXK LXK LXK KKK KKK X KKKKKKKKKMS /1-6400308-00021XX
TrigonometryExercise8 Answers for No.11693

1=(904/3 = 155.885) M
a
Ansl =[1564/3 — 156 = 114200, , Ans2=[+ 106 —454/2 =6.508], , Ans3 = 154/3 .
[ ] [ [ ] .2:(arctan[ [J=44.979°J t
h

1 =270 M
Ansd =162.040, , Ans5=57.229, , Ans6=275, ’A”S7‘[2=155}’ U
T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKXX KX KXXX KX KXXKXX XX KXXXXKKXKXXKXXKXXKXKXXME /1-6400308-00022XX
TrigonometryExercise8 Answers for No.12097

1=T72 M
Ansl =[724]3 = 124.708], , Ans2=[+/65—-284/3 =4.062], , Ans3= 2—(arctan(£)—32276°j’ |4
h

1=145] | M

Ans4=191.450, , Ans5=94.229, , Ans6=189, Ans7—[2:102}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXXKXXKXXKXX XX KKXXX KX KXXKXX XX KXXKXX KX KXXKXXKXXKXKXXME /1-6400308-00023XX
TrigonometryExercise8 Answers for No.12172

1=(2043 =34.641) M

Ansl =[132—444/3 255790, , Ans2=[/85—-424/3 =3.501], , Ans3 = 3 RN
.2 =|arctan| — |=16.102 t
h

@
1 =395 M
Ans4 =181.833, , Ans5=70.958, , Ans6=184, Ans7—[2 _ 280}’ U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKX XXX XXX KKK LXK KX XKXLX LKL LKL XKL LXK LXK KKK KKK X KXKKKKKKKKMS /1-6400308-00024XX
TrigonometryExercise8 Answers for No.12173

1 =(724/3 = 124.708) M

Ansl =[7243 =72=52.708], , Ans2=[3+/13—-64/2 =6374], , Ans3 = 124/3 RN
.2 =| arctan =42.103 t
h

JzMﬂ
2=269]

Ans4=171.541, , Ans5=177.309, , Ans6=174, , Ans7=[

NS RE

X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKKKXXXKXKXKXXXKKXKXXXKKKKKXKKKKXKXXKKKX KKK KKK KKK KKKK KX KKKX KKK KKK XX KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KXKXX KX XXKXX XX KXXXXKXKXXXKXKXKXKXXME/1-6400308-00025XX
TrigonometryExercise8 Answers for No.12180

1=T72 M
_ 7= _ _ - _ 12 a
Ansl =[724]3 =72=52.708], , Ans2=[+/58 2142 =5320], , Ans3 .2:(arctan(—j:32.276°j’ |
h

1=149] | M

Ans4=161.990, , Ans5=89.788, , Ans6=158, |, Ans7—[‘2:74}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX XX KXKXX XX XXKXX XX KXXKXXKXXKXXXXKXKXKXKXXME /1-6400308-00026XX
TrigonometryExercise8 Answers for No.12256

1= (2843 =48.497) M

Ansl =[924/3 = 159349, , Ans2 =[]/ 145—724/3 =4.505], , Ans3— 743 RN
.2 =| arctan v =18.613 t

h

@
1 =186 M
Ans4=151.983, , Ans5=79.327, , Ans6=163, Ans7—[2 _ 107}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXKX XXX XXX XXX LXK KX XKXLX XKL LKL LXK LXK LXK LXK KKK X KKKKKKKKKMS /1-6400308-00027XX
TrigonometryExercise8 Answers for No.12278

=72 M

_ _ 7= _ _ - - 3 4
Ansl =[7243 =72=52.708], , Ans2=[/97-364/3 =5.886], , Ans3 ‘2:(arctan(_):30'964()}, |
h

@
N =488} M
9 b U

Ans4=171.900, , Ans5=75.322, , Ans6=121, Ans7=[2_313

T
X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXXKKKX KKK KKK KKK KKKK XX KKKX KKK KKKK X KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKX KX KXKXX KX XXKXX XX KXXXXKXKXXXXKXKXKXKXXME /1-6400308-00028XX
TrigonometryExercise8 Answers for No.12482

1= (2443 =41.569) M

Ansl =[156 —524/3 =65.933], , Ans2=[/34—154/2 =3.576], , Ans3 = 243 RN
.2 =| arctan =21.052 t

h

@
1=92 M
Ans4 =141.757, , Ans5=67.002, , Ans6 =191, , Ans7—['2:46}, U

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX XX KXXX KX KXXKXX XX XXXXKXKXXKXXKXXKXKXXME /1-6400308-00029XX
TrigonometryExercise8 Answers for No.12586

1=90 M
Ansl =[78-264/3 =32.967], , Ans2=[4/37 =6.083], , Ans3 .2:(arctan(—j=35.538°)’ |t
h

Ans4=191.584, , Ans5=123.909, , Ans6=150, ’A””:[’]:”q’ v

288 U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKX XXX XXX KKK KX KKXKX XKL LKL LKL LXK LXK LXK LXK XXX KX KKKKKKKKKMS /1-6400308-00030XX
TrigonometryExercise8 Answers for No.12677

=60 M
_ 150 = _ _ - . 5 a
Ansl =[1504/3 — 150 = 109.808], , Ans2=[+/65—28+/3 =4.062], , Ans3~= (arctan(_j 29’055()), |
? h

@

1=160] | M

Ans4=162.140, , Ans5=68.766, , Ans6 =264, Ans7—[2=113}, U

T

X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKXXKKKKXKXKKKX KKK KKK KKK KKKK KX KKK KKK KKKK X KKXK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KXKXX XX XXKXX XX KXXKXXKXKXXXKXKXKXKXXME /1-6400308-00031XX
TrigonometryExercise8 Answers for No.13490

—84 M
_ 102 = _ _ _ _ 14 a
Ansl =[1024/3 —102=74.669], , Ans2=[/145-724/2 =6.571], , Ans3= (arctan _]:29.249()), |
25 ,

@

1=260] |Mm

Ans4=191.534, , Ans5=101.786, , Ans6 =153, , Ans7—[2:149}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKX XX KXXKXX KX KXXKXX XX XXXXKKXKXXKXXKXKXKXKXXME/1-6400308-00032XX
TrigonometryExercise8 Answers for No.13500

=60 M
Ansl =[1504/3 — 150 =109.808 ] Ans2 = [4«/§= 6.928] Ans3 = 5 ¢
> T .2 =| arctan| = |=29.055° |[ | ¢
h
1 =618 M
Ans4 =182.548, , Ans5=177.047, , Ans6 =283, , Ans7—[2 :437}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXXXKX XXX KKK KKK LXK KX KKXLX LKL LKL LXK LXK LXK LXK KKK X KKKKKKKKKMS /1-6400308-00033XX
TrigonometryExercise8 Answers for No.13637

1= (2443 = 41.569) M

Ansl =[90—304/3 =38.038], , Ans2=[/89—404/3 =4.440], , Ans3— 443 RN
.2 =| arctan =18.258 !

h

Ans4=192.137, , Ans5=106.091, , Ans6=188, ’A”S7:Bifiﬂ’ ’

NS RE
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KKXXX KX KXXXX XX KXXKXXKXKXXKXXKXKXKKXXME /1-6400308-00034XX
TrigonometryExercise8 Answers for No.645101

1= (8443 = 145.492) M

Ansl = [84—-284/3 =35503], , Ans2=[/97—-364/2 =6.789], , Ans3 = 243 RN
.2 =| arctan =49.107 {

h

@
.1:296} M
2=1700 ’| U

Ans4=131.681, , Ans5=83.735, , Ans6=303, |, Ans7:[

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX XX KXKXKXX KX KXXKXX XX KXXKXXKXKXXKXXKXXKXKXXME /1-6400308-00035XX
TrigonometryExercise8 Answers for No.645102

1= (2443 =41.569) M

Ansl = [884/3 = 1524201, , Ans2=[1/85—-424/2 =5.060], , Ans3— 443 R
.2 =| arctan =18.258 t

h

@
.1:219} M
2=1410 ’| U

Ans4=131.754, , Ans5=78.050, , Ans6=118, |, Ans7=[

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKX XXX XXX KKK KX KKXLX XKL LKL LKL LXK LXK LXK KKK KKK X KXKKKKKKKKMS /1-6400308-00036XX
TrigonometryExercise8 Answers for No.645103

1 =(724/3 = 124.708) M

Ansl =[884/3 = 152.420], , Ans2=[24/25—-124/3 =4.106], , Ans3— 243 RN
.2 =| arctan =49.107 t
h

@
.1=560} M
2=39) ’|U

Ans4=161.400, , Ans5=177.396, , Ans6 =184, , Ans7=[

T
X [Page = 0012] XXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXKKKXXXKXKXKXXXKKKXKKXXKKKKKXKKKKX KX KKKX KKK KKK KKK KKKK KX KKK KKK KKK KK KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKX KX KXKXX XX XKXKXX XX KXXKXXKKXKXXKXXKXXKXKXXME /1-6400308-00037XX
TrigonometryExercise8 Answers for No.645104

1=(2643 =45.033) M
a
Ansl =[90—304/3 =38.038], , Ans2=[/57 =7.550], , Ans3= 134/3 RIS
.2 =| arctan =22.635 {
h

1 =284 M
Ans4=182.033, , Ans5=93.187, , Ans6=234, Ans7—[2 _ 163}’ U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKXX XX KXKXX XX XKXKXX XX KXXXXKKXKXXXXKXKXKXKXXME /1-6400308-00038XX
TrigonometryExercise8 Answers for No.645105

1=(3243 =55.426) M

Ansl =[724/3 = 1247081, , Ans2=[3+/13—64/3 =4.845], , Ans3— 243 RN
.2 =| arctan =21.052 !
h

@
.1:117} M
2=57] |l U

Ans4=162.050, , Ans5=283.425, , Ans6=149, Ans7=[

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXXXKX XXX XXX KKK LXK KX KKXLX KKK KKK LXK LXK LXK KKK KKK X KKKKKKKKKMS /1-6400308-00039XX
TrigonometryExercise8 Answers for No.645106

1 =66 M
AnsI =[804/3 = 1385641, , Ans2=[4/74-354/3 =3.658], . Ans3= 2_(arctan(£j_329050j’ |
h

.1 =200 M

Ans4 =181.983, , Ans5=57.071, , Ans6=133, ’A”S7‘[2=153}’ | U

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KXXX KX KXXKXX XX KXXXXKKXKXXXXKXKXKXKXXME /1-6400308-00040XX
TrigonometryExercise8 Answers for No.645107

1= (3243 =55.426) M
Ansl =[66—224/3 =27.895], , Ans2=[4+/5—-243 =4.957], , Ans3= 843 RN
.2 =| arctan =22.777 t
33 h
@
q=155] | M
Ans4=181917, , Ans5=104.681, , Ans6 =155, , Ans7—[.2:77}, U

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXKXXKXXKXXKXX KX KKXXX XX XXKXX XX XXKXXKKXKXXXXKXKXKXKXXME/1-6400308-00041XX
TrigonometryExercise8 Answers for No.645108

1=66 M
Ansl =[784/3 =78 =57.100], , Ans2=[/41-204/3 =2.522], , Ans3 = 2:(arctan(£j:30069°j’ |4
. . h

@

Ans4=151.930, , Ans5=107.087, , Ans6 =152, , AnS7:[..]2::18787}’ , ]\5

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKX XXX XXX KKK LXK KX XKXLX XKL LKL LKL LXK LXK LXK KKK KX KKKKKKKKKMS /1-6400308-00042XX
TrigonometryExercise8 Answers for No.645109

1 =60 M
Ansl =[1004/3 =173205], , Ans2=[24]7 =5292], , Ans3 .ZZ(arctan(—j:30.466°j’ |
h

1=343] | M

Ans4 =132.257, , Ans5=116.288, , Ans6 =128, , Ans7—[2=263}, U

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX KX KXXX KX XKXXX XX KXXXXKXKXKXXXXKXXKXKXXME /1-6400308-00043XX
TrigonometryExercise8 Answers for No.645110

1=(6643 = 114315) M

a

Ansl =[64+3 =110.851], , Ans2=[4+3 =6.928], , Ans3 = A3 .,
[ ] [ ] 2= (arctan(—J = 40.893"} t
h

Ans4 =182.648, , Ans5=67.499, , Ans6=174, A”S7:[']:89l M
2=51 U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX KX KXXKXX KX XKXXX XX KXXXXKKXKXXXXKXKXKXKXXME/1-6400308-00044XX
TrigonometryExercise8 Answers for No.645111

1= (2443 =41.569) M

Ansl =[684/3 = 117.779], , Ans2=[34/10—-34/2 =7.198], , Ans3 = 443 RN
.2 =| arctan 9 =20.034 !
h

@
.1=352} M
2=2020 ’| U

Ans4=131.434, , Ans5=91.880, , Ans6=149, Ans7=[

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKX XXX KKK LXK KX KKXLX LKL LKL LXK LXK LXK LXK KKK KX KKKKKKKKKMS /1-6400308-00045XX
TrigonometryExercise8 Answers for No.645112

1=(224/3 =38.105) M

Ansl =[144—484/3 =60.862], , Ans2=[2+/25—124/3 =4.106], , Ans3 = 114/3 RN
.2 =| arctan =21.650 t
h

@
.1:334} M
2=2360 | U

Ans4=131.434, , Ans5=151.157, , Ans6 =174, , Ans7=[

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXXXKXX KX KXXX KX XXKXX XX KXXXXKKXKXXKXXKXKXKXKXXME/1-6400308-00046XX
TrigonometryExercise8 Answers for No.645113

1=(6643 = 114315) M

Ansl = [844/3 = 145492, , Ans2=[3+4/7 =7.937], , Ans3= 114/3 b
.2 =| arctan =45.079 t

h

@
1 =157 M
Ans4=181.930, , Ans5=70.522, , Ans6=262, |, Ans7—[2 _ 101}’ U

T
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXXXKX XXX XXKXX XX KXKXX XX XXKXX XX KXXXXKXKXKXXKXXKXKXKXKXXME /1-6400308-00047XX
TrigonometryExercise8 Answers for No.645114

1=90 M
Ansl =[44+/3 =76210], , Ans2=[+21 =4.583], , Ans3= 2:(arctan( ] 32'0050), |
h

@

1=220 M

Ans4 =181.930, , Ans5=122.076, , Ans6=118, , Ans7—[2:169}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKX XXX KKK LXK KX KKXKX LKL LKL KKK LXK LXK LXK KKK X KKKKKKKKKMS /1-6400308-00048XX
TrigonometryExercise8 Answers for No.645115

— 84 M
Ansl =[1264/3 —126=92.238], , Ans2=[/130-634/3 =4.570], , Ans3= (arctan —] 36.384")’ |t
19
h
@
Ansd =161.750, , Ans5=68.697, , Ans6=128, ’A”S7:['12162}’ v
2=8l U
T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX XX KXXX KX XKXXX KX XXX XKXKXKXXKXXKXKXKXKXXME /1-6400308-00049XX
TrigonometryExercise8 Answers for No.645116

1=(2243 =38.105) M
Ansl =[78 = 264/3 =32.967], , Ans2=[4+/3 =6.928], , Ans3= 3 RN
2 =|arctan| — |=16.102 {
h
1=137] | M
Ans4=162.190, , Ans5=102.591, , Ans6 =236, , Ans7—[.2:79}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXXKXXKXKXX KX KXXKXX XX KXXKXXKXKXKXXKXXKXKXKXKXXME /1-6400308-00050XX
TrigonometryExercise8 Answers for No.645117

1=66 M
_ 60 = _ _ _ 11 a
Ansl =[604/3 —60=43.923], , Ans2=[/37 =6.083], , Ans3 .2:(arctan(—j:28.811°j’ |
20
h
1=300] | M
Ans4=141.700, , Ans5=91.705, , Ans6=191, Ans7—[2:230}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKX XXX XXX KKK LXK KX XKXLX LKL LKL KKK LXK LXK KKK KKK X KKKKKKKKKMS /1-6400308-00051XX
TrigonometryExercise8 Answers for No.645118

=72 M

= - - — _ — _ 4 a
Ansl =[108 —364/3 =45.646], , Ans2=[/25—124/3 =2.053], , Ans3 .2:(arctan(—j:29.745°j’ |
h

@
= 346} M
9 b U

Ans4 =182.648, , Ans5=94.302, , Ans6=297, , Ans7 = [2 145

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX KX KXXKXX KX XXKXX XX KXXXXKKXKXXXXKXKXKXKXXME/1-6400308-00052XX
TrigonometryExercise8 Answers for No.645119

=284 M
Ansl =[1384/3 =138 =101.023], , Ans2=[7=7.000], , Ans3= 2 ¢
> > .2 =|arctan| — |=33.690° |[ | ¢
h
1=284] | m
Ans4=151.930, , Ans5=71.721, , Ans6=142, Ans7—[2:163}, U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXXXXKXXKXXKXXKXX XX KKXKXX KX KXXKXX XX XXX XKXKXXKXXKXKXKXKXXME/1-6400308-00053XX
TrigonometryExercise8 Answers for No.645120

1=66 M
72— _ _ _ _ 11 a
Ansl =[72—244/3 =30431], , Ans2=[/37 =6.083], , Ans3 '2:(arctan(_j: \ 4.509()}, |
h

1=339] | M

Ans4=172.229, , Ans5=107.201, , Ans6 =275, , Ans7—[2:170}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKX XXX XXX KKK KX KKXKX XKL LKL LKL LXK LXK LXK KKK KKK X KKKKKKKKKMS /1-6400308-00054XX
TrigonometryExercise8 Answers for No.645121

/=84 M
Ansl =[132—444/3 2557901, , Ans2=[/130—634/3 =4.570], , Ans3 ,2:(arctan(_j:30.256oj’ '
h

@

1 =386 M

Ans4=151.980, , Ans5=107.123, , Ans6=174, ’A”S7‘[2=22J’ U

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXKXXKXXKXXKX KX KKXKXX KX XXXX XX KXXXXKXKXXXXKXKXKXKXXME /1-6400308-00055XX
TrigonometryExercise8 Answers for No.645122

1=T72 M
Ansl =[724]3 —=72=52.708], , Ans2=[/89—404/3 =4.440], , Ans3 = 2_(arctan(ﬂ)_297450), |4
h

1=402] | M

Ans4=151.733, , Ans5=60410, , Ans6=133, |, Ans7—[2:231}, U

T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXKXXXKXXKXXKXXKXX XX KKXXX XX XXXX XX KXXKXXKXXKXXXXKXKXKXKXXME /1-6400308-00056XX
TrigonometryExercise8 Answers for No.645123

1=(78+3 = 135.100) M

Ansl =[1044/3 =180.133], , Ans2=[7=7.000], , Ans3— 134/3 RN
.2 =| arctan =46.996 !

h

1 =220 M
Ans4 =182.498, , Ans5=135.080, , Ans6=149, , Ans7—[2 _ 126}’ U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKX XXX XXX KKK L KKXLX XKL LKL LKL KKK LXK LXK LXK KKK X KXKKKKKKKKMS /1-6400308-00057XX
TrigonometryExercise8 Answers for No.645124

=60 M
Ansl =[724]3 =72=52.708], , Ans2=[34/7 =7.937], , Ans3= 10 ¢
T > .2 =| arctan| — [=30.466° || | ¢
h
1=230] | M
Ans4=161.990, , Ans5=136.073, , Ans6 =123, , Ans7—[2 _ 148}’ U
T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXKXXKXXXXKX KX KXKXKXX KX XXKXX XX KXXXXKXKXXXXKXKXKXKXXME /1-6400308-00058XX
TrigonometryExercise8 Answers for No.645125

1 =60 M
Ansl [761/§ 131.636], , Ans2=[~97 36ﬁ 6.789], , Ans3 .2=(arctan(_j:26'5650)’ |
2
h
1 =220 M
Ans4 =131.384, , Ans5=128.537, , Ans6=175, |, AnS7_[2:126}’ | U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXXXXKXXKXXKXXKXX KX KKXXX KX XXKXX XX KXXKXXKXKXXKXXKXXKXKXXME /1-6400308-00059XX
TrigonometryExercise8 Answers for No.645126

1=(204/3 =34.641) M

Ansl =[84—284/3 =35503], , Ans2=[/34—154/3 =2.832], , Ans3 = 104/3 RN
.2 =| arctan =16.902 !

h

Ans4=171.850, , Ans5=72.147, , Ans6=123, Ans7=[1 - 102}, s M
.2=151 U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXKX XXX KKK KKK KX XKXLX LKL LKL LXK LXK LXK KKK KKK KX KKKKKKKKKMS /1-6400308-00060XX
TrigonometryExercise8 Answers for No.645127

1 =(264/3 =45.033) M

Ansl =[524]3 =90.067], , Ans2=[4/61-30+/2 =4310], , Ans3= 134/3 RN
.2 =| arctan =19.667 {

h

@
.1=309} M
2=218 | U

Ans4=172.029, , Ans5=60.734, , Ans6=226, , Ans7 =[

T
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXXKXXXKXXKXXKXXXX KX KKXKX KX KXXXX XX KXXXXKXKXXKXXKXKXKXKXXME/1-6400308-00061XX
TrigonometryExercise8 Answers for No.645128

1=(90+/3 = 155.885) M
a
Ansl =[724]3 = 124.708], , Ans2=[34/7 =7.937], , Ans3= 5.3 o
[ [ | : | .2=[arctan[ [j:51.052°j t
h

.1 =453 M
Ans4 =182.548, , Ans5=67.920, , Ans6 =286, , Ans7 = [2 _ 260}’ U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXKXXXXKXXXKXXKXXKXXKXX KX KKXXX XX KXXXX XX KXXXXKXKXXKXXKXKXKXKXXME /1-6400308-00062XX
TrigonometryExercise8 Answers for No.645129

1= (2643 =45.033) M
a
Ansl =[60—204/3 =25359], , Ans2=[7=7.000], , Ans3— 1343 .
[ [ ] : ] .2=[arctan( [j:18.073°j t
h

Ans4 =152.232, , Ans5=116.288, , Ans6 =251, , Ans7=[’] - 122}, , M
2=78 U
T

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKX XXX XXX KKK LXK KX KKXLX LKL LKL KKK LXK LXK LXK KKK X KKKKKKKKKMS /1-6400308-00063XX
TrigonometryExercise8 Answers for No.645130

1=(304/3 =51.962) M
a
Ansl =[884/3 =152.420], , Ans2=[7=7.000], , Ans3 = 3 ,
[ [ | [ | .2:[arctan(£j:23.4l3° t
h
.1 =200 M
Ans4=171.859, , Ans5=93.670, , Ans6=179, Ans7—[2=129}, U
T
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